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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. General Part-II Examination, 2019  

ECONOMICS 
PAPER: ECOG-III 

Time Allotted: 3 Hours Full Marks: 100 
The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

 GROUP-A 
িবভাগ-ক 

1. Answer any ten questions from the following: 
িনmিলিখত �য-�কােনা দশিট  pেűর উtর দাওঃ 

2×10 = 20

(a) State two major difficulties in measuring national income in India. 
ভারেত জাতীয় আয় পিরমােপর dিট অসুিবধা উেlখ কেরা। 

(b) Mention two causes of low productivity in Indian agriculture. 
ভারতীয় kিষেত sl উৎপাদনশীলতার dিট কারণ উেlখ কেরা। 

(c) What was the population in India as per census of 2011? 
২০১১ এর জনগণনা অনুযায়ী ভারেতর জনসংখ°ার পিরমাণ কত িছল ? 

(d) What is poverty line? 
দািরd° সীমা িক ? 

(e) What is the difference between cottage and small scale industries? 
kটীর িশl ও kdায়তন িশেlর মেধ° পাথ�ক° িক ? 

(f) What is meant by land reforms? 
ɛিম সংsার বলেত িক �বােঝা ? 

(g) Mention any two problems of industrial development in India. 
ভারেত িশেlাnয়েনর �kেt dিট সমস°া উেlখ কেরা। 

(h) Mention two names of large industries in India. 
ভারেত dিট বৃহৎ িশেlর নাম উেlখ কেরা।  

(i) What is ‘VAT’? 
‘যুkমূল° কর’ িক ? 

(j) State two functions of Reserve Bank of India. 
ভারতীয় িরজাভ� ব°ােìর dিট কাজ উেlখ কেরা। 

(k) Mention two different forms of foreign capital. 
dই pকােরর িবেদশী পঁুিজর উেlখ কেরা। 

(l) Mention two problems of agricultural credit in India. 
ভারতবেষ�র kিষঋণ সংkাn dিট সমস°ার উেlখ কেরা। 

(m) Define small scale industries. 
kdায়তন িশেlর সংjা দাও। 

(n) Name two programmes formulated for poverty eradication in India.  
ভারতীয় অথ�নীিতেত দািরd° দূরীকরেণর dিট pকেlর নাম উেlখ কেরা। 

(o) Mention two important import goods of India. 
ভারেতর dিট pধান আমদািন dেব°র নাম উেlখ কেরা। 
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 GROUP-B 

িবভাগ-খ 
 Answer any five questions from the following 

িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাও 
16×5 = 80

2. Evaluate the success of the measures taken by the Government of India to 
eradicate poverty.  
ভারত সরকার কt�ক গৃহীত দািরd° দূরীকরণ কম�সূচীgিলর সাথ�কতা মূল°ায়ণ কেরা। 

16

  
3. Discuss the causes of high rate of population growth in India. What are the effects 

of these on Indian economic development? Explain. 
ভারেত জনসংখ°া বৃিdর উcহােরর কারণgিল িক িক ? ভারেতর অথ�ৈনিতক উnয়েনর উপর জনসংখ°া 
বৃিdর ফলাফল ব°াখ°া কেরা। 

8+8

  
4. What are the objectives of Land Reforms in India? What are the measures taken 

to fulfill those objectives and what has been the result of these initiatives?  
ভারেত ɛিম সংsােরর pধান উেdশ°gিল িক ? এই লk° অজ�েন িক িক ব°বsা gহণ করা হেয়েছ এবং 
এর ফলাফল িক হেয়েছ ? 

4+12

  
5. Briefly discuss the changes in India’s industrial structure after economic 

liberalisation.  
অথ�ৈনিতক উদারীকরেণর পিরেpিkেত ভারেতর িশlগঠেনর �kেt িক  িক পিরবত�ন হেয়েছ, তা 
সংেkেপ �লেখা। 

16

  
6. What are the objectives of nationalisation of commercial banks? How far these 

objectives are fulfilled? 
ভারেত বািণিজ°ক ব°াì জাতীয়করেণর উেdশ°gিল িক িক ? এই উেdশ°gিল কতদূর সফল হেয়েছ ? 

8+8

  
7. Critically discuss the role of foreign aid in Indian economic development. 

ভারেতর অথ�ৈনিতক উnয়েন �বেদিশক সাহােয°র ɛিমকা পয�ােলাচনা কেরা। 
16

  
8. What is industrial sickness? State the reasons for industrial sickness. How 

industrial sickness hampers industrial development? 
িশlrgতা কােক বেল ? িশl rgতার কারণgিল বণ�না কেরা। িশlrgতা িকভােব িশেlাnয়েন বাধা সৃিŶ 
কের ? 

2+8+6

  
9. Briefly discuss the measures taken to increase exports of India in the post 

liberalisation period by the Government of India.  
উদারীকরেণর পরবত�ী সমেয় ভারেতর রpানী বৃিdেত িক িক ব°বsা ভারত সরকােরর পk �থেক gহণ 
করা হেয়েছ তা আেলাচনা কেরা। 

16

  
10. Write short notes on any two of the following: 

িনmিলিখত �য-�কােনা dিট  িবষেয়র উপর সংিkp টীকা �লেখাঃ 
(i) Co-operative farming (ii) New Industrial Policy in India 
 সমবায় চাষ  ভারেতর নtন িশlনীিত 
(iii) Unemployment problems in India (iv) Direct taxation in India. 
 ভারেতর �বকার সমস°া  ভারেতর pত°k কর ব°বsা । 

8×2 = 16

 ——×—— 
 


